

prevention - protection - enforcement

County Distribution Detail Report through 05/02/2020

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,072	1,870	13	2,955	\$3,693.75	\$104.32	\$3,589.43	0.70	\$2,512.60
							Entity Tota	l:	\$2,512.60
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$2,512.60
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	3,644	10,295	292	14,231	\$17,788.75	\$383.61	\$17,405.14	0.70	\$12,183.60
							Entity Tota	l:	\$12,183.60
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$12,183.60
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	901	1,098	6	2,005	\$2,506.25	\$58.30	\$2,447.95	0.70	\$1,713.57
							Entity Tota	l:	\$1,713.57
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,713.57
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,886	3,893	12	5,791	\$7,238.75	\$146.30	\$7,092.45	0.70	\$4,964.72
							Entity Tota	l:	\$4,964.72
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,964.72

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	10,724	21,044	167	31,935	\$39,918.75	\$858.39	\$39,060.36	0.70	\$27,342.25
							Entity Tota	al:	\$27,342.25
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$27,342.25
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	9,538	25,870	261	35,669	\$44,586.25	\$940.93	\$43,645.32	0.70	\$30,551.72
							Entity Tota	al:	\$30,551.72
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$30,551.72
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,206	3,596	8	5,810	\$7,262.50	\$147.94	\$7,114.56	0.70	\$4,980.19
							Entity Tota	al:	\$4,980.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,980.19
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	532	456	2	990	\$1,237.50	\$25.24	\$1,212.26	0.70	\$848.58
							Entity Tota	al:	\$848.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$848.58
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,434	6,339	37	8,810	\$11,012.50	\$232.35	\$10,780.15	0.70	\$7,546.11
							Entity Tota	al:	\$7,546.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,546.11
Campbell									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	683	1,411	12	2,106	\$2,632.50	\$52.74	\$2,579.76	0.70	\$1,805.83
							Entity Tota	al:	\$1,805.83
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,805.83
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,633	5,446	25	8,104	\$10,130.00	\$208.55	\$9,921.45	0.70	\$6,945.02
							Entity Tota	al:	\$6,945.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,945.02
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	20	2,624	44	2,688	\$3,360.00	\$82.78	\$3,277.22	0.70	\$2,294.05
							Entity Tota	al:	\$2,294.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,294.05
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	757	2,720	120	3,597	\$4,496.25	\$106.02	\$4,390.23	0.70	\$3,073.16
							Entity Tota	al:	\$3,073.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,073.16
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	1,516	0	0	1,516	\$1,895.00	\$37.90	\$1,857.10	0.70	\$1,299.97
2/2020	1,556	0	0	1,556	\$1,945.00	\$38.90	\$1,906.10	0.70	\$1,334.27
3/2020	94	304	89	487	\$608.75	\$25.64	\$583.11	0.70	\$408.18
							Entity Tota	al:	\$3,042.42
							Adjustmer	nt:	\$0.00

Total Amount: \$3,042.42

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	4,135	25,928	1,700	31,763	\$39,703.75	\$829.78	\$38,873.97	0.70	\$27,211.78
							Entity Tota	l:	\$27,211.78
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$27,211.78
Clark									

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,310	2,294	14	3,618	\$4,522.50	\$92.39	\$4,430.11	0.70	\$3,101.08
							Entity Tota	:	\$3,101.08
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,101.08

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,640	7,481	246	9,367	\$11,708.75	\$247.64	\$11,461.11	0.70	\$8,022.78
							Entity Tota	l:	\$8,022.78
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$8,022.78

Codington

3/2020

1,122

631

170

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2020	0	0	0	0	\$0.00	\$0.15	\$-0.15	0.70	\$-0.11
3/2020	7,445	18,823	628	26,896	\$33,620.00	\$733.92	\$32,886.08	0.70	\$23,020.26
							Entity Total	:	\$23,020.15
							Adjustment	:	\$0.00
							Total Amou	nt:	\$23,020.15
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$2,403.75

1,923

0.70

\$2,353.35

\$50.40

\$1,647.35

Adjustment: \$0.00 Total Amount: \$1,647.35

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2020	0	0	0	0	\$0.00	\$0.15	\$-0.15	0.70	\$-0.11
3/2020	3,219	5,614	40	8,873	\$11,091.25	\$250.10	\$10,841.15	0.70	\$7,588.81
							Entity Tota	l:	\$7,588.70
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$7,588.70
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	4,859	13,814	166	18,839	\$23,548.75	\$485.60	\$23,063.15	0.70	\$16,144.21
							Entity Tota	I:	\$16,144.21
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$16,144.21

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,984	3,480	12	5,476	\$6,845.00	\$138.59	\$6,706.41	0.70	\$4,694.49
							Entity Total	:	\$4,694.49
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,694.49
Deuel									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,708	2,903	16	4,627	\$5,783.75	\$124.75	\$5,659.00	0.70	\$3,961.30
							Entity Tota	ıl:	\$3,961.30
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,961.30
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,181	2,134	7	3,322	\$4,152.50	\$86.48	\$4,066.02	0.70	\$2,846.21

							Entity Tota	al:	\$2,846.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,846.21
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,245	2,890	20	4,155	\$5,193.75	\$104.69	\$5,089.06	0.70	\$3,562.34
							Entity Tota	al:	\$3,562.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,562.34
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,955	4,544	22	7,521	\$9,401.25	\$195.53	\$9,205.72	0.70	\$6,444.00
							Entity Tota	al:	\$6,444.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,444.00
Faulk									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	731	1,449	13	2,193	\$2,741.25	\$55.43	\$2,685.82	0.70	\$1,880.07
							Entity Tota	l:	\$1,880.07
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,880.07
Grant									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,080	5,205	18	7,303	\$9,128.75	\$186.58	\$8,942.17	0.70	\$6,259.52
							Entity Tota	ıl:	\$6,259.52
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$6,259.52
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,664	3,431	16	5,111	\$6,388.75	\$142.17	\$6,246.58	0.70	\$4,372.61

	Entity Total:	\$4,372.61
	Adjustment:	\$0.00
	Total Amount:	\$4,372.61
Haakon		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,009	1,374	5	2,388	\$2,985.00	\$59.90	\$2,925.10	0.70	\$2,047.57
							Entity To	otal:	\$2,047.57
							Adjustm	ent:	\$0.00
							Total Am	ount:	\$2,047.57

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,607	3,607	9	5,223	\$6,528.75	\$131.32	\$6,397.43	0.70	\$4,478.20
							Entity Tota	l:	\$4,478.20
							Adjustment	t:	\$0.00
							Total Amou	int:	\$4,478.20

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,075	2,594	20	3,689	\$4,611.25	\$98.53	\$4,512.72	0.70	\$3,158.90
							Entity Total	:	\$3,158.90
							Adjustment	::	\$0.00
							Total Amou	int:	\$3,158.90
Hanson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	863	3,012	22	3,897	\$4,871.25	\$100.40	\$4,770.85	0.70	\$3,339.60
							Entity Tota	l:	\$3,339.60
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,339.60
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	687	872	2	1,561	\$1,951.25	\$49.66	\$1,901.59	0.70	\$1,331.11

							Entity Total: Adjustment:		\$1,331.11 \$0.00
llushaa							Total Amo	unt:	\$1,331.11
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2020	-1,516	0	0	-1,516	\$-1,895.00	\$-37.90	\$-1,857.10	0.70	\$-1,299.97
2/2020	-1,556	0	0	-1,556	\$-1,945.00	\$-38.90	\$-1,906.10	0.70	\$-1,334.27
3/2020	4,109	13,782	200	18,091	\$22,613.75	\$500.87	\$22,112.88	0.70	\$15,479.02
							Entity Tota	al:	\$12,844.78
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$12,844.78
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,822	5,034	48	7,904	\$9,880.00	\$212.32	\$9,667.68	0.70	\$6,767.38
							Entity Tota	al:	\$6,767.38
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$6,767.38
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	597	1,059	5	1,661	\$2,076.25	\$42.17	\$2,034.08	0.70	\$1,423.86
							Entity Tota	al:	\$1,423.86
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$1,423.86
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	621	853	4	1,478	\$1,847.50	\$37.37	\$1,810.13	0.70	\$1,267.09
							Entity Tota	al:	\$1,267.09
							Adjustmen	nt:	\$0.00

Total Amount: \$1,267.09

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	808	1,248	6	2,062	\$2,577.50	\$53.24	\$2,524.26	0.70	\$1,766.98
							Entity Tota	al:	\$1,766.98
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,766.98
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	558	676	3	1,237	\$1,546.25	\$31.28	\$1,514.97	0.70	\$1,060.48
							Entity Tota	al:	\$1,060.48
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,060.48
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,296	3,928	59	5,283	\$6,603.75	\$135.13	\$6,468.62	0.70	\$4,528.03
							Entity Tota	al:	\$4,528.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,528.03
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,624	8,963	91	11,678	\$14,597.50	\$302.65	\$14,294.85	0.70	\$10,006.40
							Entity Tota	al:	\$10,006.40
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$10,006.40
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	7,768	16,851	162	24,781	\$30,976.25	\$637.35	\$30,338.90	0.70	\$21,237.23
							Entity Tota	al:	\$21,237.23
							Adjustmer	nt:	\$0.00
Lincoln							Total Amo	unt:	\$21,237.23

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2020	0	0	0	0	\$0.00	\$0.45	\$-0.45	0.70	\$-0.32
3/2020	3,729	23,124	1,709	28,562	\$35,702.50	\$791.93	\$34,910.57	0.70	\$24,437.40
							Entity Tota	I:	\$24,437.08
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$24,437.08
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,092	1,743	220	3,055	\$3,818.75	\$83.46	\$3,735.29	0.70	\$2,614.70
							Entity Tota	l:	\$2,614.70
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,614.70
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,555	2,834	13	4,402	\$5,502.50	\$114.31	\$5,388.19	0.70	\$3,771.73
							Entity Tota	I:	\$3,771.73
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,771.73
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,068	4,215	18	6,301	\$7,876.25	\$161.27	\$7,714.98	0.70	\$5,400.49
							Entity Tota	I:	\$5,400.49
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,400.49
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	955	1,520	4	2,479	\$3,098.75	\$72.85	\$3,025.90	0.70	\$2,118.13
							Entity Tota	I:	\$2,118.13
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,118.13

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2020	0	0	0	0	\$0.00	\$0.45	\$-0.45	0.70	\$-0.32
3/2020	3,409	17,940	337	21,686	\$27,107.50	\$580.77	\$26,526.73	0.70	\$18,568.71
							Entity Tota	l:	\$18,568.39
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$18,568.39

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	558	666	0	1,224	\$1,530.00	\$30.61	\$1,499.39	0.70	\$1,049.57
							Entity Total	:	\$1,049.57
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,049.57

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	998	1,587	17	2,602	\$3,252.50	\$81.45	\$3,171.05	0.70	\$2,219.74
							Entity Tota	I:	\$2,219.74
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,219.74

Minnehaha

3/2020

1,344

4,550

44

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2020	0	0	0	0	\$0.00	\$15.12	\$-15.12	0.70	\$-10.58
3/2020	41,385	149,590	3,521	194,496	\$243,120.00	\$5,124.76	\$237,995.24	0.70	\$166,596.67
							Entity Total	:	\$166,586.09
							Adjustment	:	\$0.00
							Total Amou	nt:	\$166,586.09
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$7,422.50

\$173.35

5,938

0.70

\$7,249.15

\$5,074.41

\$5,074.41

Adjustment: \$0.00 Total Amount: \$5,074.41

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2020	0	0	0	0	\$0.00	\$8.68	\$-8.68	0.70	\$-6.08
3/2020	24,556	77,764	1,910	104,230	\$130,287.50	\$2,790.43	\$127,497.07	0.70	\$89,247.95
							Entity Tota	l:	\$89,241.87
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$89,241.87
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,701	2,253	6	3,960	\$4,950.00	\$109.06	\$4,840.94	0.70	\$3,388.66
							Entity Tota	l:	\$3,388.66
							Adjustmen	t:	\$0.00

Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,076	1,772	9	2,857	\$3,571.25	\$72.45	\$3,498.80	0.70	\$2,449.16
							Entity Tota	l:	\$2,449.16
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,449.16
Roberts									

\$3,388.66

Total Amount:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	3,290	4,982	17	8,289	\$10,361.25	\$229.68	\$10,131.57	0.70	\$7,092.10
							Entity Tota	ıl:	\$7,092.10
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,092.10
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	759	1,760	4	2,523	\$3,153.75	\$63.19	\$3,090.56	0.70	\$2,163.39

Entity Tot	tal: \$2,163.39
Adjustme	ent: \$0.00
Total Amo	ount: \$2,163.39

3/2020

2,366

3,826

12

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,883	4,476	21	6,380	\$7,975.00	\$163.66	\$7,811.34	0.70	\$5,467.94
							Entity Total		\$5,467.94
							Adjustment		\$0.00
							Total Amou	nt:	\$5,467.94
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	723	2,146	15	2,884	\$3,605.00	\$76.65	\$3,528.35	0.70	\$2,469.85
							Entity Total		\$2,469.85
							Adjustment		\$0.00
							Total Amou	nt:	\$2,469.85
Sully									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	613	1,161	4	1,778	\$2,222.50	\$45.74	\$2,176.76	0.70	\$1,523.73
							Entity Tota	al:	\$1,523.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,523.73
Todd									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	0	67	4	71	\$88.75	\$11.56	\$77.19	0.70	\$54.03
							Entity Total	:	\$54.03
							Adjustment	:	\$0.00
							Total Amou	nt:	\$54.03
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$7,755.00

\$160.74

\$7,594.26

0.70

\$5,315.98

6,204

		Entity Total:	\$5,315.98
		Adjustment:	\$0.00
		Total Amount:	\$5,315.98
Turner			

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,173	6,129	18	8,320	\$10,400.00	\$211.75	\$10,188.25	0.70	\$7,131.78
							Entity Tota	l:	\$7,131.78
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,131.78

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	2,991	11,052	691	14,734	\$18,417.50	\$451.82	\$17,965.68	0.70	\$12,575.98
							Entity Total:		\$12,575.98
							Adjustment:		\$0.00
							Total Amou	nt:	\$12,575.98

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	1,971	3,640	140	5,751	\$7,188.75	\$146.13	\$7,042.62	0.70	\$4,929.83
							Entity Total:		\$4,929.83
							Adjustment:		\$0.00
							Total Amou	nt:	\$4,929.83
Yankton									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2020	5,042	15,890	312	21,244	\$26,555.00	\$553.23	\$26,001.77	0.70	\$18,201.24
							Entity Total:		\$18,201.24
							Adjustment:		\$0.00
							Total Amount:		\$18,201.24

 Totals
 207,083
 596,127
 13,858
 817,068
 \$ 1,021,335.00
 \$ 21,815.20
 \$ 999,519.80